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&t 19. 00 18. 05 18. 05 19. 00 38.00
LW T = 38.00 + = 38.00 m
KFWIE - HIET= 18.05 + = 18.05 nf
eAE T = 18.05 + = 18.05 nf
R IE T = 18.05 - 18.05 = nf



B R RRELAKOCMERHBHER

Hil (7 A7 7V b t=bem(fEIAt=4cm)) @ [H3EH] iS4 omPl 1 BT X (itiif As )
fid i A B R OV S 1 1R i O
ALY A 5y ARGy e 5y
o NALFE BgRO | Bk BE#EEG | BEERG S S 1 i
Liged TR 0 S AR LI I R I 0 S AT A LI I T fid= 5l B T 5l B (B IR
7!
T & T i T & T i
(mm) (m) (m) (m) (nf) (m) (nf) (mm) (m) (m) (m) (nf) (m) (nf) (m) (m) (m) (m)
No. 1-2
2 No. 2-1 200 33. 00 0.95 31.35 0.95 31.35 150 1.35 0.83 112 0.83 112 33.00| 2 66. 00 1.35] 2 2.70]1.80 - (0.9/2X1)
No. 2-1
2 No. 2-2 200 34. 00 0.95 32. 30 0.95 32. 30 150 5. 60 0.83 4. 65 0.83 4. 65 34.00| 2 68. 00 5.60] 2 11.20]6.50 = (0.9/2%2)
&t 67.00 63. 65 63. 65 6.95 5. 77 5.77 67. 00 134. 00 6.95 13.90
LW T = 134. 00 + 13.90 = 147.90 m
KFWIE - HIET= 63. 65 + 5.77 = 69. 42 ni
i T= 63. 65 + 5.77 = 69.42 nf
R IE T = 69. 42 - 69. 42 = nf



B R RRELAKOCMERHBHER

Hil (7 A7 7V b t=5em (I t=5cm)) )@ [ZxE ] F|0 AN BT X (itiif As )
fid i A B R OV S 1 1R i O
ALY A 5y ARGy e 5y
o NALFE BgRO | Bk BE#EEG | BEERG S S 1 i
R TR 0 f2 AR LI I R I 0 p2 AT A LI I T fid= 5l B T 5l B (BT R)
7!
T & T i T & T i
(mm) (m) (m) (m) (nf) (m) (nf) (mm) (m) (m) (m) (nf) (m) (nf) (m) (m) (m) (m)
No. 2-1
2 No. 2-2 150 115 0.83 1.00 0.95 1.83 2.10 L.15] 2 2.30]1.60 - (0.9/2X1)
&t 1.15 0.95 2.10 1.15 2.30
EliZEEIM L= + 2.30 = 2.30 m
KFWIE - HIET= + 2.10 = 2.10 nf
i T= + 0.95 = 0.95 nf
R IE T = 2.10 - 0.95 = 115 nf



